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TFHEEES (cellulase, CL) /FEBARLFH ZEGEFMENE
R EIREAH

DRNEE 50 B/24 1+
IENNEBTFZ B 2-3 MNHE R K BIHE AR M50 E
MEENX :
CL (EC3.2.1.4) fFET M. HEMIMIEN, ReS e qEaEm, & Kn]) 2R
TEEZ . B M7 PROR B nT AR BEYRRI A 45 S0k iy it o) 7]
MERIE:
SR FH TEL LU €0 9200 52 C LR J2 HR SR £ A 2 80 At 7 A )0 R R P55
EEEMNEMNAM:
AT L6, KIS, AT RE RS . ImL BeEbh I, BIFAR. K. IRBRIER AN ZEMK .
I AY 2B R FNED Il -
PREU . Witk SomLx1 i, 4°CHRAT;
R Widk 6mLx1 i, 4°CHEREAE
KA A 40mLx1 I, 4°CIRAT;
WA= 7>, 4CHRAE;  IRFIRTINA SmL Z818/K 1 45mL IR BEER 78 2 1A A5 A
FE G ZE B
1. U BT FRAIAE: SIS B s B 0 N, B0 a3 BiEs 1R IR AN gt i &
(10°4N): FREUGBAF (mL) 4 500~1000: 1 fIEGE] (L 500 7340 & B 40 AN 1mL 32
HUBD, 8 75 I AR 4 1 4B B (UK, THER 20% 88 200W, #75 3s, [AlFE 10s, EE 30 K);
8000g 4°C &> 10min, HU_E3E, BUK AR
2. A4 HIRALRE (g FREURARI(mL) N 1: 5~10 LB CGEIRELZ) 0.1g 4147,
IO ImL $EBURD, BEHTUKIBAIH . 8000g 4°CELr 10min, B LiE, Bk BRI,
3. IMiE GO R B,
MELSE:
1. R 30min LA L, K E 620nm, ZE/KIEE.
2. IOFER (FE EP BRI T F1AFD |

R 44 R Xif IR e &
FEA 100 100
Ri— (uL D 180
WA= (uL ) 740 740
ZZIH/K (uL ) 360 180

37°CHR XM 1h f5, 90°C/KHE 15min (5%, Bhib/KkaER), AHE
8000g 25°C &0 10min, HX i, LK
BEALH (uL) 350 350
RA= (uL) 650 650
R21,  90°C/KH 10min (F5'5%, Biib/KAHUR), A4, 620nm AZ&TH/KRE, MERLE
A, T AA=A MBS -A TR . AN E R — A IR A
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CLENHE:

1. FRMESAETIEMEETFEN y=5.018x - 0.0462; x JFRHEMIKE (mg/mL), y NG

H.

2. I ¥ CLIE T

BT E X B mL s CGRD R8I =4 1ng RS € SO — AN BRE 71547

CL 3% /7 (ug /min/mL)= [ 1000 X (AA+0.0462) +5.018xV JZ &1 ]+V FE=T =39.8x(AA+0.0462)

3. 4HfE. AR AL CL WS ITHE

(D R EARETE

ALY E X B mg HEVE LR B AL A Tpg H TR E SON— AN IS 77 5L

CL 7% /7(ng /min/mg prot)=[1000 X (AA+0.0462) +5.018xV Sz #]~(V FExCpr) =T
=39.8%(AA+0.0462) ~Cpr

(2) FFEAEEE T

BATHE X B g B RMELL 24 1 u g B ATREE SO — /NS 180 .

CL 7% /7(ng /min /g #£ E)=[1000 X (AA+0.0462) +5.018xV S ]+(Wx V #+V FER) =T
=39.8x(AA+0.0462) ~W

(3) IR A e

AL E X B 1 A GH R B R AR B A A 1w g AT E SO — NS 1A

CL 3% 71 (ng /min /10* cell)=[1000 X (AA+0.0462) +5.018xV JZ L ]+(500xV FE+V FES) T
=0.0796x(AA+0.0462)

1000: 1mg/mL=1000ug/mL; V i&h: RMARREMAF, 1.2mL;  VFE: IIAFEAREF, 0.1

mL; V FEil: IIAFERGHEAARL, 1 mL; T: JBIES[E], 60 min; Cpr: FEANER IR E, mg/mL;

W: FEAFE, g; 500: 4HHE 40 8%0 500 J.
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